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Ed #| T 18.2. 18.3 20.0 16.0. 23.2 2.7 2.7 32.4 28.2 3.0 2.0 2.8
— % -k 5.7 15.8 17.0 17.0 17.5 16, 19.4 20.d 19.§ 20.6 16.§ 7.9
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LS wxl - | 301 ot s 39| s00| 3| 34| o1r| o1| onn| on
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2 K 3# m
2 i o m
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i we/ ¢ <0.05 <0.05 <0.05
2OL(6H) | e/ R <0.02 <0.02 <0.02
Bt ¥ me/ £ <0.02 <0.02 <0.02
2 0k e <.0005 <. 0005 <.0005
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P C B| mg/ £ c 8
P H - 724 794 74 8¢ 79 7.4 79 80 7.8 7.4 80 8.1
% D Of mg/ @ 6.4 64 7.4 74 78 73 75 7.4 82 59 s4d 8.4
#HB 0  Dlmg/R 7.4 7.1 12.0 12.9 494 3.5 9.6 9.0 9.6 2.9 5.0 5.5
#C 0 DlmsR 7.9 8.4 1.4 94 53 19 84 s.d 69 19.d 4.8 6.4
3 S S| me/ 9 g § 9 o § 4 & 4 4 =9 4 3
A B B ¥ MPN/100ad 3.5E04 9.2604 >1.6E5 >1.685 >1.6E5 >1.6E5 1.6805 >1.6E5 »1.65 >1.665 1.6E0F >1.6€5
B n—Hex mg/ R '
£ B ¥Fw/l 2.11 2.31 1.82 1.81 1.99 1.78
% # g/ 9 0.289 0.344 0.244 0.263 0.32 . | 0.203
#h N mg/ R )
Tz /—AM | mg/ R
5 ne/ <0.01 <0.01 <0.01
E 8 mg/ 2 0.02 0.02 <0.01
BEC A R D) we/ R ‘
WH™Y (R me/ R <0.05 <0. 05 <0.05
% a  Alwmg/R <0.01 <0.01 <0.01
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TUET #E 2 X mg/ 0 0.242 0.402 0.215 0.108 0.09% 0.143
TS = X me/ R 0.027] 0.084 0.039 0.039 0.049 0.027
BB Ew 1.230 0.834 1.101 0.881 0.979 1.083
OB N e/ 0.189 0.200) 0.168 0.173 0.170 0.141
BlA B S|m/R 0.93 0.75 0.35
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WA R 8.8 7.3 4. 7.5 5.5 6.3
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| 7 we/ <0.02 <0.02 <0.02
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% ® # uU/enm 171 189 1sd 83 208 21 164 169 1500 159 17 174
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H OB e/l N.D. N.D. N.D.
i i ng/ ¢ <0.05 <0.05 <0.05
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B O Dim/R 1.9 1.4 1.d 1.4 o7 o5 1.8 1.4 3.4 35 09 0.6
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2 B Fe/p 1.86 1.72 1.60 1.48 1.81 1.51
2 mg/ 0 0.215 0.187 0.184 0. 169 0.184 0.163
i M e/ £ '
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$H ng/ P <0.01 <0.0% <0.0!
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S E M Y me/ 0
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N Wi - “osof osd osol osd 18] osol 18y o8y - 181 181 140 140
w8 = - otf ol o1 on| o1 oml o or onl ouf o1 on

i E | w/S 12.34 2.33 3.16 2.63 2.92 2.49
w o |mEuE | - AN ER IR NENENE R DD

nEueg | em >300  »300  »>300  »>3d  »30 »3d  »300  >300  >30 ~300  »300  >30
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e % mg/ 0 <0.05 <0.05 <0.05
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| W 7 mg/ R 0.02 <0.02 <0.02

213 K fﬂl mg/ 9 <. 0005 <. (005 <, 0005
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P C Blm/f N.D. N.D.

P HF - 724 71 74 19 7.4 74 84 80 7.4 79 8.0 8.1
4 D 0| mg/ 2 9.1 98 94 98 84,93 o7 97 10 98§ 9.2 9.0
B O D|me/R 2.3 1.7 1. 1.4 18 1.4 1.3 0.9 L 0.8 1.3 1.0
WC O Dim/P 271 2.4 14 1.4 2.4 22 1.8 1. 1. 1.4 2.1 2.8
% S S| me/ 9 EEE I 4 4 41 § 4 3
H A B o 2 MPNA100] 9.2804 5.2604 2.1803 2.3803 7.0802 7.9602 2.2£03 2.4E03 3.1E07 2.3802 9.2€09 1:6E03
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£ B Tm/p 1.60 1.54 1.98 1.82 1.52 1.68

£ 4 mg/ 0.208 0.181 0.264 0.198 0.198 { 0.218

i B mg/

Fx =N | me/ R

1] mg/ L <(.01 <0.01 <.01
Sl % me/ 2 <0.01 <0.01 <0.01

S B Y/l

WHY (FERRAE), me/ © <0.08 <0.05 <0.05
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TUECT 2 M me/ R 0.120) 0.051 0.20 0.148 0.064 - 0.164
TE| TR 2 X me/ R 0.057 0.081 0.067 0.108 0.081 0.040

W OR O E e 1.089 1.278 1.358 1.429 0.989 1:269

% B OB e/l 0.168 0.163 0.208 0.169 0.177 0.195 -
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& WEIEA i2Evesx | 10020 | 14:00 [ 10345 | 14:00 | 11:00 | 14:15 | 16:20 | 13:40 { 11205 ['15:10 | 10:35 | 14205
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£ #l T 18.0 18.5 18.8 20.8 25.0 22.94 20.1 34.7 1.0 33. 23.0 30.3
—{ % Bl C 1.4 15.3 14.0 16.0 18.00 18.7 8.7 21.0 18.6 21.2 16.00 17.9
7 #l - 190| 140| 140| 140| 231 1a0| 141| 1a| o001{ oo01| o01| 001
Pl = - ort | ot oern| om| o] oit| err| onm| omr{ om| o] on
wWH ' |ws 2.37 2.59 2.08 2.77 2.47 3.71
| WA - Bl | W0 | Bb| Wb | Bo] Wb | Bo) #Bb| Bd | &b | &b &b
IEHE | on >300  >300 >30 >3 17.2 »30 >30 >30 30 >3 >3  >30)
RN K 2 m
2 KB m
8 e R m
HE I Aimg/R <0. 005 <0. 005 <0.004
v 7 Y wgtl N.D. N.D. N.D.
H OB e/ H.D. N.D. N.D.
iy g/ 0 <0.05 <0.05 <0.05
HEL(6HE) |me/ @ <0.02 <0.02 <0.02
o ¥ ng/ 2 <0.02 <0.02 <0.02
T <.0005 <.0003 <0005
TASA K SHne/0 )
P Cc B|mg/ 2 .
P Hl - g1 81 s8d "81 82 83 82 84 81 82 8.1 8.7
H D 0| mg/ 2 104 9.1 0.4 86§ 9.8 91 9.0 8% 99 89 9.8 9.3
B O Dlwg/f .8 2 1.4 19 od o8 28 2.4 33 2.1 o04d 1.2
WC O Dlm/f 2.4 33 .9 1.6 2.6 24 24 28 1.§ 28 1.8 1.9
# s S me/ 2 g & 1 3 1 24 § 4 1 1 1 1
H & M o 2 ] MPN/100n0 7.0E03 7.9603 4.9803 7.9603 1.6605 >1.6E5 3.5604 5.4€04 1.6€05 1.6E0H 1.6805 »1.6€5
B n-Hex ng/ R
2 T e/l 1.84 1.47 1.75 1.66 1.43 1.38
2 mg/ § 0.084 0.067 0.100 0.127 0.132 0.065
#h 5 mg/ 2
Tx /N | wg/ @
B ng/ 0 <0.01 <0.01 <0.01
4 84 me/ <0.01 <0.01 <0.01
$B(HBHE /L ,
R (PR me/ £ <0.08 <0.09 <0.05
7 o Negd <0.01 <0.01 <0.01
) W H me/ R
TUAT7 M X m/ R 0.091 0.037 0.055 0.085 0.008 0.013
T EREE 2 X es/ 0 0.017 0.010) 0.013 0.021 0.010 0.0
WRHEE R 1.217 1.277 1.288 1.249 1.303 1,256
% MO e 0.047 0.041 0.065 0.103 0.112 0.049
A B Slm/g 0.04 0.0 <0.02
m B OB uUlen 170 171 148 155 s 199 183 190 17§ 177 15 163
R PEl mg/ @ <5 <4 T <4 <§ <5
WE A e/ 5.2 4.3 3.9 5.9 1.4 4.4
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Cokige W | wEELsm L RO
AR CEAH—FT) x B % 00501 ) \
Ll L A N B ]
B A a8 |2t/ 11/26 | i1/26 | 12/22 | 12/22 | /28| /B | D w3 | 3/18| 3/18
& WEHE wemresnl | 10:45 | 14:05 | 10250 | 14315 | 11:20 | 14130 } 10:45 14:05 | 10:35 j 14315 | 11:15 | 14:40
x Bl o- 2 -] 1% [ " ] ] /.4 % W % 0
= Bl C 3 160 189 19.0 8.5 o 8dg 125 81 1.3 i2.0 12.9
1— K gy T 12.d 13.2 12.8 13.04 82 84 T a.d 101 129 1lo.d 11.0
% Bl - ool ooy 18] isd 224 22 1eg 140 140 14q 144 140
! wl - ol ow] o1y oty on| on| ol on oty oty oiy 01l
%% W B | mfS 2.9 2.08 1.8 1.33 1.54 1.7 |
1RELE - o |l | mn | we | wd | Wb | we | 0| b | RO | Rl s |
JRE B E | cm 30 »30 30 3¢ 7.4 7.5 >3 >30 =30 >3d  >30 >301
Bl i Rk m
) m
B % K m
HF 3% hlwg/R <().005 <0.005 <0005
b 7 M ome/ @ N.D. R.D. N.D.
k=] ;] ng/ £ N:D. N.D. K.D.
i s/ R <0.05 <0.05 <0.05
yab(6E) |m/L <0.02 <0.02 <0.02
tt 29 mg/ 2 <0.02 <0.02 <0.02 \
B XK mg/ £ <-0003 <.0003 <. 0003 |
| EITSESK me/ £
P C Bj mg/ £ N.D. K.D.
P HE *- 74 74 81 81 174 7.4 81 82 8h 83 8.0 8.0
% D o| me/ 2 ol 1w0.d 1o.d 1.5 1.3 . 1.8 1.9 1.4 129 10.1 3.9
B 0 Dim/f 14 1.9 24 29 =md"s.d 14 20 17 1.6 1.9 L&
mWC O Dlmsl T8 1.4 32 34 =9 03 39 32 24 28 1.9 L5
# S S| me/ £ 4 1 185 384 9 i 4 3
X 1B @ 7 5| MPN/100nd 5.4E04 5.4E04 2.8E04 9.2E04) 8.2604 9.2F04 16704 1.6€04 1. 1£04 7.950 3.3€03 7.9€03
B n-Hex |[me/f | |
& = Fm/L 1.64 1.71 2.24 1.88 1.76 1.6t
£ 1] g/ 2 0.102 0.119 0.17 0.112 0.078 0.102
i H me/ R
Tz~ | we/ 8
5 mg/ <0.01 <0.01 <0.01
M E 50t me/ 0 <0.01 <0.01 <0.01
B E M A/ L
b~y (FRREHE) mg/ R <0.05 <0.05 <0.05
My o e/l <0.01 <0.01 <0.01
7 W = omg/ L
77 2 B e/ 0 0.021 0.025 0.096 0.061 0.057 0.065
TREYE 2 B s/ 0 0.015 0.015 0.013 0.018 0.02% 0.022
woEmt e/ 1.3486 1.338 1.564 1.498 1.338 1.291
wo® R e/ 0.079 0.071 0.051 0.066 0.055 0.078
gla B S|le/R 0.05 0.16 0.10
w 2 o pUlen 78 17d 174 1ed 170 173 195 196 18] 18d 178 178
] B me/ 2 <G <5 21 <5 <5 <5
A F /R 5.5 5.4 7.0 7.3 9.6 5.4
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= A d 5/12 | 5/12| ss23| s/231 6/27 6/27| 7/28| 7728 | 8/25] 8/25 | 92| 9s24
4 JEHEE $RANBERY | 10:55 | 14:00 | 11335 | 14:40 | 11:30 | 14:25 | 11:20 | 14:40 | 11340 { 14:20 [ 11:30 | 14:20
R g| - g | 2| w5 | 25| & k| % | m| | &
) 'l C 18,0 17.4 21,0 22,9 24.0 22.8 32.11 33.00 30.8 3.8 24.8 24.0
— K #w| T ©13.8 13.9. 13.8 14, .17.9 5.8 19.0 18.8 19.1| 20.0 17.5 17.0
aEn Wl - i | 41| 81| 81| 41| 10| 10| 140| 140| 140| o060| 080
Hu /- o1r| o1t ottf o1t| ot on| om| om| on| o1} o1| ot1
M & | w/S 32.38 45.63 37.88 37.79 44.84 40.9
g | R - Fol | B | B S0 O | | D] fo | 0| B .G B
NMEBE | om >3 »300 >300 >30 28.9 >30 >30 »30 »30 >300 30 >30
B #5 BREXKER m :
£ K &% m
BEHE | m
HE Y Lieg/R <0.005 <0.003 <0005
&y 7 Amg/ R N.D. N.D. N.D.
T M e/
% me/ R <0.05 <0.05 <0.05
7 OL(G) |we/f <0.02 <0.02 <0.02
TH it I mg/ 0 <0.02 <0.02 <0, 02
2Ok e/ <.0005 <.0005 <.0005
Bl7 848K 88 mg/R -
P C Bl mg/ 2 z
P H - 21 719 1d 74 794 794 718 79 7.1 T4 1.4 1.8
& D 0| me/ R 100 94 984 ¢ 8% 91 92 9.3 85 88 89 9.0
B O Dimg/f .4 1.7 1.8 1.8 0.9 o7 20 1§ 1.8 1.4 09 0.7
®WC 0 Dlm/R g 2t 2 2 2224 224 1.9 1§ 20 1. 1.8 1.8
S S| we/ 0 ' 4 11 4 4 3 194 u 94 1
X BB &z %] MPN/100a4 4.9E03 4.9E03 4.9803 4.9E03 3.5E04) 5.4€04] 1.3804] 1.3604 1.6E05 1.6E05 1.1E04] 1.1€04
B n-Hex mg/ R
2 B Feg/f 1.55 1.51 1.70 1.50 1.686 1.56
£ tH mg/ 0 0.120 0.108 0. 106 0. 140 0.13 0.082
ih Noeg/
Tz )N |we/ @
] mg/ £ <0.01 <0.01 <0.01
i 8 mg/ 2 <0.01 0.01 0.01
G R me/ 0
VN CERRHE) me/ R <0.05 <0.05 <0.05
WP 2 Nwe/R <0.01 <0.01 <0.01
7 W Timg/ R
THIT 4E S B we/ R 0.068 0.075 0.082 0.069 0.036 0.041
TE WRHEME = I me/ D 0.022 0.014 0.02 0.02§ 0.019 0.012 |
TRt e/l 1.199 1.219 1.226 1.144 1.309 1,172 |
OB M e/ 0.088 0.074 0.099 0.11 0.087 0.063
BA B Slmg/? <0.02 0.05 <0.02
M ® Hullem 149 158 143 1500 18 174 17G 16§ 16 150 141 149
i B mg/ < <} <5 <5 < <5
WEA A e/l 4.7 4.4 3.5 7.8 3.7

5.4
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ES Mgy - = 2| % | m | m| ®w|w| ®x]| A B K| K
! @l T 7d 1.0 13.0 ta.9 1.9 1.d 74 1§ 1§ 129 4.0 182
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FS & - £ % - 3 K % % -1 13 ¥ N % [

£ 2| C 15.0 15.3 18.4 20.8 23.8 23.0 3i.§ 33.0 201 29.d 21.3 21.8
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x ®| - | 2| m| K| x| B | 8| | 8| | B B
= |l T 13.4 15.d 10.d 10.4 9.4 88 9.0 9.5 13.4 13.5 16.0 16.4
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& m| 18.0 18.1] 18.9 20.9 2¢.8 22.1] 31.5 3.9 28.8 28.f 23.2 24.0
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Wy o Aaewf <0.01 <0.01 <0.01
i v e/ R . .
TURIY i E B e/ 0 0.010 0.002 0.047 0.042 <0.001 0.00
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